N = 0 &8 AFH Y & A AN
20199 & 20l & LESH A X
SN ¥ES
M. s 29
Sl S A CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
8= 413,605 270,833 142,772
2HEs 29 374,160 236,738 137,422
SHsS MYEEHI 374,160 236,738 137,422
AL FOSJALY 56,000 61,100 A5,100
401 Al HI L £ 0HHI 56,000 61,100 A5,100
01 A& HI 56,000 61,100 A5,100
OARD FOU=SSAAY 50,000
OF 0L &3 ALY 6,000
A8 29 7,034 8,984 A 1,950
301 dEtEAZ 7,034 8,984 A 1,950
04 Xt EHUHAH XS 7,034 8,984 A 1,950
OXs2dHU& OkAlH| 4,000 x2H «365 2,920
oxsgdl s 29 3,000
Ogtd x4 dMIlE 6,000 x12J0 & 72
OgdH x4 AEH| 392,000& *1JH & 392
Ogte x4 el s Xdl 150,000& *1JH 2 150
OXsgdl 2494 500,000& * 104 & 500
ScletdE 29 49,070 49,070 0
301 dEtE A= 49,070 49,070 0
0B SN -0/& - -BtEEs8AZ 49,070 49,070 0
OS& JIaxg 200,000& x14H = 12& 33,600
Os& &= 200,000 * 14X *200% 5,600
O8&3 e B&Y 20,0003 *14H 23| x12& 6,720
Ooets =4 25,000& *63H 23| 3,150
A AN X 3,860 3,860 0
301 dEtE A= 3,860 3,860 0
09 HAIAHIEA = 2,860 2,860 0
O=&H 20,000& x50 1,000
Ok HOIEEZE I 20,000& *25H 500
O0IF(E8) dMsUs 40,000& *1444 560
OJIEF &AL 800
12 JIEtE &2 1,000 1,000 0
AR 1,000
2HS HA2LE 211,326 113,724 97,602
101 @121l 9,446 9,804 N 358
04 JI2ZtHI 22 XNEE % 9,446 9,804 A 358
OFR =24 It A H| 68,900& *18H *63] 7,442
OR3XN Y Al&=22] 66,800& 1 x30 2,004
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